volume fo this cone. 



A circle has a radius of 5.  A sector of that circle has a central angle of 120 degrees.  This sector is cut out and the two radii folded together thus forming a cone.  Find the volume of that cone. 

Solution:
(1)
The circumference of this circle is 
[image: image1.wmf]p
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, and the arc length of the sector that is cut out is 
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, which is the circumference of the bottom of the formed cone.

So the radius of the bottom of the cone satisfies 
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and the height h=
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 ,where s= slant height=5.
So the volume is 
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